

DETERMINATION OF THE INTERNAL HEAT SOURCE FOR A HALF-BURIED ROD

VU KIM TUAN AND FADHEL AL-MUSALLAM

Dedicated to Professor Tran Duc Van on the occasion of his sixtieth birthday

ABSTRACT. The paper considers a one-dimensional heat transfer in a perfectly lateral insulated uniform rod, which is partially exposed for measurement at one end, and proposes an algorithm that uniquely recovers the heat source proportional coefficient, the coefficient of convective heat transfer from a countable set of temperature recordings at one end of the rod. The length of the rod can be recovered by just one single measurement.

1. INTRODUCTION

Consider a uniform and perfectly lateral insulated rod of unknown length $b \leq \infty$, and an unknown heat source (sink) where the heat source is known to be proportional to the temperature distribution. One end of the rod (say $x = 0$) is in open air, so different initial temperatures can be imposed at this end, and the rest of the rod is buried under earth, hence no measurement or observation is allowed at that part of the rod. At the end(s) of the rod, there is a convection process with unknown convective heat transfer constant(s). We vary the initial temperature on the exposed part of the rod, and measure the corresponding temperature at this end, $x = 0$, of the rod.

The problem is to determine the heat source (sink) proportionality coefficient, the coefficient(s) of convective heat transfer, and the length of the rod. Without loss of generality, we can assume that the left-end of the rod, $x = 0$, is in open air, and the exposed part of the rod has length > 1 , so we can change the initial temperature on the interval $(0, 1)$. The heat transfer model can be described by the boundary value problem

Received November 11, 2010; in revised form January 5, 2011.

2000 *Mathematics Subject Classification.* 35R30, 34K29.

Key words and phrases. Heat equation, inverse spectral problem, uniqueness theorem, Laplace transform.

$$(1.1) \quad \begin{cases} u_t(x, t) = u_{xx}(x, t) - q(x)u(x, t), & 0 < x < b \leq \infty, \quad t \geq 0, \quad b > 1, \\ u(0, t) - hu_x(0, t) = 0, \\ u(b, t) + Hu_x(b, t) = 0, \\ u(x, 0) = f(x), \quad f(x) = 0 \quad \text{for } x > 1. \end{cases}$$

The constants h, H in the boundary conditions are the convective heat transfer coefficients. These parameters basically control the amount of heat released through radiation process at the end points. If the rod is infinite ($b = \infty$), we do not require any boundary condition at b . The initial temperature f in (1.1) was chosen so that no measurement was needed in the buried part of the rod. To express the dependence of u on the initial temperature f , we sometimes use the notation $u = u^f$, when needed.

We are interested in the determination of the heat source proportionality coefficient q , the length b , the convective heat transfer coefficients h and H (when $b < \infty$), from the measurements of $u^f(0, t)$, which is the temperature at the left-end of the rod.

The inverse heat equation is usually considered under the assumption that the full lateral Dirichlet-to-Neumann map, $u(0, t) \rightarrow u_x(0, t)$, is given. It is shown that q is uniquely determined by the Dirichlet-to-Neumann map [7, 8, 3, 1, 2]. In [10], the strategy is to introduce another family of source terms ψ_j , independent of the temperature distribution $u(x, t)$, and then solve the countable family of equations

$$u_t = u_{xx}(x, t) - q(x)u(x, t) + \psi_j(x)$$

with Dirichlet boundary and initial conditions, i.e. $u(x, 0) = u(0, t) = u(\pi, t) = 0$. It is then shown that if the sequence $\{\psi_j\}_{j \geq 0}$ is complete in $L_2(0, \pi)$, then q can be uniquely determined by the sequence $\{\frac{\partial}{\partial x}u(0, t^*)\}_j$ when q is small enough and t^* is large enough.

In [4, 6], the inverse heat equation on $(0, \pi)$ is considered under the initial-to-boundary map. It is shown in [4] that for any $q \in L_1(0, \pi)$ there exists N such that q is uniquely determined by a finite number of measurements $f_i(x) \rightarrow u^{f_i}(0, t), t \in (0, T), i = 1, \dots, N$, that are read for two different convective heat transfer coefficients $h_1 \neq h_2$ at $x = 0$. Furthermore, in case some extra information is known about q , then four measurements are sufficient to uniquely determine q [6]. The approach that [4] and [6] follow is out of the mainstream in the sense that it does not use the full Dirichlet-to-Neumann map $u(0, t) \rightarrow u_x(0, t)$, but bases the recovery algorithm of q solely on a finite number of initial-to-boundary measurements $\{u^{f_i}(0, t)\}$.

The present paper will consider the inverse heat problem in the singular case where the interval is infinite ($b = \infty$) as well as in the regular case, when the interval is finite ($b < \infty$), but no a priori information on the length or even the finiteness of the interval is given. We allow no change in the boundary condition, even in the regular case, as in [4, 6]. Thus, in the present setting, there is no way

to determine two sets of eigenvalues, and therefore one is unable to determine the spectral function through two complete sets of eigenvalues.

Our approach rests on the asymptotics of the boundary temperature at infinity to determine the eigenvalues and decide whether the rod is of a finite length or infinite. Moreover, the finiteness and the length of the rod can be established by just one measurement.

By choosing a suitable set of initial temperatures for the boundary observations, we recover as an inverse Laplace transform, the product of an unknown entire function of exponential type with a spectral function associated with a Sturm-Liouville problem. The observations are made on discrete time intervals, so we are faced with the problem of recovering the inverse Laplace transforms from discrete data (Section 2). Changing the initial temperature in an appropriate way, we can determine all Fourier coefficients of the entire function, and therefore, the function itself. This would recover the spectral function, and by the Gelfand-Levitan theorem, the coefficient q and the boundary constants h, H can be determined.

2. AN INVERSE FORMULA FOR THE LAPLACE TRANSFORM

Let f be an arbitrary function defined on the interval $(0, \infty)$. Recall that the integral

$$(2.1) \quad g(s) = \int_0^{\infty} e^{-st} f(t) dt,$$

if it exists, is called the Laplace transform of f .

In this section, we derive an asymptotics formula for the Laplace transform and establish a formula for the inverse Laplace transform that we will need in the next section.

The Abel theorem for the Laplace transform [16] says that

$$\lim_{s \rightarrow \infty} sg(s) = f(0+).$$

Suppose that f does not change sign on $(0, a)$. Without loss of generality, we may assume that $f(t) > 0$ on $(0, a)$. Let $0 < \epsilon < a$. Then

$$g(s) = \int_0^{\epsilon} e^{-st} f(t) dt + \int_{\epsilon}^{\infty} e^{-st} f(t) dt =: g_1(s) + g_2(s).$$

Apply the mean value theorem to the first integral to get

$$g_1(s) = e^{-st_0} \int_0^{\epsilon} f(t) dt \geq e^{-s\epsilon} \int_0^{\epsilon} f(t) dt > 0, \quad 0 < t_0 < \epsilon.$$

Hence

$$\underline{\lim}_{s \rightarrow \infty} e^{\epsilon s} g_1(s) > 0.$$

As for the second integral, one can see from its definition that $e^{\epsilon s}g_2(s)$ is the Laplace transform of $f(t + \epsilon)$, therefore, the use of the Abel theorem yields

$$\lim_{s \rightarrow \infty} s e^{\epsilon s} g_2(s) = f(\epsilon+).$$

Consequently,

$$\underline{\lim}_{s \rightarrow \infty} e^{\epsilon s} g(s) > 0.$$

Hence if f does not change sign on $(0, a)$, then

$$\lim_{s \rightarrow \infty} e^{as} |g(s)| = \infty.$$

Using this and the fact that $\lim_{s \rightarrow \infty} |g(s)| = 0$ show that there is an $s_0 = s_0(a) > 0$ such that

$$1 > |g(s)| > e^{-as} \quad \text{for } s > s_0.$$

Hence

$$-a \leq \underline{\lim}_{s \rightarrow \infty} \frac{\ln |g(s)|}{s} \leq \overline{\lim}_{s \rightarrow \infty} \frac{\ln |g(s)|}{s} \leq 0.$$

Since a can be chosen as small as one would like it to be, it follows that

$$(2.2) \quad \lim_{s \rightarrow \infty} \frac{\ln |g(s)|}{s} = 0,$$

which means that $g(s)$ decays to 0 slower than any exponential function.

If the Laplace transform g is known in the complex plane, the original f can be recovered by the Bromwich contour integral [16]. However, if the Laplace transform g is given only on the positive real axis $(0, \infty)$, that is the case when the Laplace transform (2.1) is considered as an integral equation of the first kind, one should use an inverse formula involving only the values of g on $(0, \infty)$. A first formula of this kind was introduced by Post [11] and Widder [15, 16]

$$(2.3) \quad f(t) = \lim_{n \rightarrow \infty} \frac{(-1)^n}{n!} \left(\frac{n}{t}\right)^{n+1} g^{(n)}\left(\frac{n}{t}\right).$$

It allows reconstruction of the original f by means of the values of the derivatives of high order of its Laplace image g at points of the real axis almost everywhere. Recently, real-variable inverse formulas for the Laplace transform without using derivatives of g have been considered ([13, 14]). All of these formulas require sampling g at non-integer points depending on t . The following theorem states a new real-variable inverse formula for the Laplace transform free of this dependency.

Theorem 1. *Let $f \in L_\infty(0, \infty)$. If f has a jump discontinuity at t , then*

$$\lim_{n \rightarrow \infty} n \sum_{j=1}^{\infty} \frac{(-1)^{j-1}}{(j-1)!} e^{njt} g(nj) = (1 - e^{-1})f(t+0) + e^{-1}f(t-0),$$

where g is as in (2.1). In particular, if f is continuous at t , then

$$(2.4) \quad \lim_{n \rightarrow \infty} n \sum_{j=1}^{\infty} \frac{(-1)^{j-1}}{(j-1)!} e^{njt} g(nj) = f(t).$$

In other words, f is completely determined by $\{g(n)\}_{n \geq 1}$.

Proof. Define

$$f_n(t) = \frac{n}{1 - e^{-ent}} \sum_{j=1}^{\infty} \frac{(-1)^{j-1}}{(j-1)!} e^{njt} g(nj).$$

The series defining $f_n(t)$ converges absolutely for every t . Indeed,

$$\begin{aligned} \sum_{j=1}^{\infty} \frac{1}{(j-1)!} e^{njt} |g(nj)| &\leq \sum_{j=1}^{\infty} \frac{1}{(j-1)!} e^{njt} \int_0^{\infty} e^{-njx} |f(x)| dx \\ &\leq \|f\|_{\infty} \int_0^{\infty} e^{n(t-x)} \sum_{j=1}^{\infty} \frac{1}{(j-1)!} e^{n(j-1)(t-x)} dx \\ &= \|f\|_{\infty} \int_0^{\infty} e^{n(t-x)} e^{e^{n(t-x)}} dx = \frac{1}{n} (e^{ent} - 1) \|f\|_{\infty} < \infty. \end{aligned}$$

Since

$$\left| \sum_{j=1}^M \frac{(-1)^{j-1}}{(j-1)!} e^{nj(t-x)} f(x) \right| \leq \|f\|_{\infty} e^{n(t-x)} \sum_{j=0}^{\infty} \frac{1}{j!} e^{njt} = \|f\|_{\infty} e^{n(t-x)} e^{ent}$$

and $\|f\|_{\infty} e^{-xn}$ is in $L_1(0, \infty)$, Lebesgue's dominated convergence theorem justifies the interchange of the order of integration and summation in the following manipulation

$$\begin{aligned} f_n(t) &= \frac{n}{1 - e^{-ent}} \sum_{j=1}^{\infty} \int_0^{\infty} \frac{(-1)^{j-1}}{(j-1)!} e^{nj(t-x)} f(x) dx \\ &= \frac{n}{1 - e^{-ent}} \int_0^{\infty} \sum_{j=1}^{\infty} \frac{(-1)^{j-1}}{(j-1)!} e^{nj(t-x)} f(x) dx \\ &= \frac{n}{1 - e^{-ent}} \int_0^{\infty} e^{n(t-x)} f(x) \sum_{j=1}^{\infty} \frac{(-1)^{j-1}}{(j-1)!} e^{n(j-1)(t-x)} dx \\ &= \frac{n}{1 - e^{-ent}} \int_0^{\infty} e^{n(t-x)} e^{-e^{n(t-x)}} f(x) dx = \int_0^{\infty} K_n(t, x) f(x) dx, \end{aligned}$$

where

$$K_n(t, x) = \frac{n}{1 - e^{-ent}} e^{n(t-x)} e^{-e^{n(t-x)}}.$$

Clearly, $K_n(t, x) > 0$, and making the change of variables $z = e^{n(t-x)}$, we get

$$(2.5) \quad \int_a^b K_n(t, x) dx = \frac{1}{1 - e^{-ent}} \int_{e^{n(t-b)}}^{e^{n(t-a)}} e^{-z} dz = \frac{e^{-e^{n(t-b)}} - e^{-e^{n(t-a)}}}{1 - e^{-ent}}.$$

Assume that f has a jump discontinuity at t . Then for any $\epsilon > 0$ there exists a $\delta \in (0, t)$ such that $|f(x) - f(t+0)| < \epsilon$ for $x \in (t, t+\delta)$ and $|f(x) - f(t-0)| < \epsilon$ for $x \in (t-\delta, t)$. Let

$$J_n(t) = \frac{1 - e^{-1}}{1 - e^{-e^{nt}}} f(t+0) + \frac{e^{-1} - e^{-e^{nt}}}{1 - e^{-e^{nt}}} f(t-0) - f_n(t).$$

Formula (2.5) yields

$$\int_t^\infty K_n(t, x) dx = \frac{1 - e^{-1}}{1 - e^{-e^{nt}}},$$

$$\int_0^t K_n(t, x) dx = \frac{e^{-1} - e^{-e^{nt}}}{1 - e^{-e^{nt}}},$$

so that

$$\begin{aligned} J_n(t) &= \int_0^t K_n(t, x)[f(t-0) - f(x)] dx + \int_t^\infty K_n(t, x)[f(t+0) - f(x)] dx \\ &= \left(\int_0^{t-\delta} + \int_{t-\delta}^t \right) K_n(t, x)[f(t-0) - f(x)] dx \\ &\quad + \left(\int_t^{t+\delta} + \int_{t+\delta}^\infty \right) K_n(t, x)[f(t+0) - f(x)] dx \\ &= (I_1 + I_2) + (I_3 + I_4). \end{aligned}$$

Let us estimate $I_i, i = 1, 2, 3, 4$. We have

$$\begin{aligned} |I_1| &\leq \int_0^{t-\delta} K_n(t, x) |f(t-0) - f(x)| dx \\ &\leq 2\|f\|_\infty \int_0^{t-\delta} K_n(t, x) dx = 2\|f\|_\infty \frac{e^{-e^{n\delta}} - e^{-e^{nt}}}{1 - e^{-e^{nt}}} \end{aligned}$$

and

$$\begin{aligned} |I_4| &\leq \int_{t+\delta}^\infty K_n(t, x) |f(t+0) - f(x)| dx \\ &\leq 2\|f\|_\infty \int_{t+\delta}^\infty K_n(t, x) dx = 2\|f\|_\infty \frac{1 - e^{-e^{-n\delta}}}{1 - e^{-e^{nt}}}, \end{aligned}$$

where the last equality in each estimate comes from (2.5).

As for I_2 and I_3 , we have

$$|I_2| \leq \int_{t-\delta}^t K_n(t, x) |f(t-0) - f(x)| dx \leq \epsilon \int_{t-\delta}^t K_n(t, x) dx = \epsilon \frac{e^{-1} - e^{-e^{n\delta}}}{1 - e^{-e^{nt}}}$$

and

$$|I_3| \leq \int_t^{t+\delta} K_n(t, x) |f(t+0) - f(x)| dx \leq \epsilon \int_t^{t+\delta} K_n(t, x) dx = \epsilon \frac{e^{-e^{-n\delta}} - e^{-1}}{1 - e^{-e^{nt}}}$$

Thus, for a fixed t , I_1 and I_4 tend to 0 while I_2 and I_3 become smaller than ϵ as $n \rightarrow \infty$, and since ϵ is arbitrary, it follows that

$$\lim_{n \rightarrow \infty} J_n(t) = 0.$$

Since $\lim_{n \rightarrow \infty} e^{-e^{nt}} = 0$, the proof of the theorem is complete. □

3. DETERMINATION OF b, q, h, H

We start with the direct problem to characterize the solution u of (1.1).

First consider the case $b = \infty$.

Let $\varphi(x, \lambda)$ be the solution of the associated initial-value problem

$$\begin{cases} -\varphi''(x, \lambda) + q(x)\varphi(x, \lambda) = \lambda\varphi(x, \lambda), & 0 < x < \infty, \\ \varphi(0, \lambda) = 1, \varphi'(0, \lambda) = h. \end{cases}$$

It is known [12] that there exists a non-decreasing function $\rho(\lambda)$ such that if $f \in L_2(R^+)$, then

$$(3.1) \quad F(\lambda) = \int_0^\infty f(x)\varphi(x, \lambda) dx$$

is well-defined and belongs to $L_2(R, d\rho)$, and

$$(3.2) \quad f(x) = \int_{-\infty}^\infty F(\lambda)\varphi(x, \lambda) d\rho(\lambda),$$

with

$$(3.3) \quad \|f\|_{L_2(R^+)} = \|F\|_{L_2(R, d\rho)}.$$

The function ρ is the spectral function for the Sturm-Liouville operator

$$Ly = -\frac{d^2y}{dx^2} + qy, \quad y'(0) - hy(0) = 0.$$

We shall assume as in many cases of interest that $q \in L_1(0, \infty)$. In this case, the continuous part of the spectrum, $\sigma(L)$, of the operator L is $[0, \infty)$ and there

might be a point spectrum (discrete) in $(-\infty, 0)$, which is bounded below. In fact, if

$$\|q\|_{loc} = \sup_{x \geq 0} \int_x^{x+1} |q(t)| dt \leq \|q\|_1$$

and

$$E_0 = -\max \left\{ 2\|q\|_{loc}, e^2 \|q\|_{loc}^2 \right\},$$

then $\inf \sigma(L) > E_0$. Thus, if $\{\lambda_n\}_{n \geq 1}$ is the point spectrum of L , arranged in increasing order, then $E_0 < \lambda_1 < \lambda_2 < \dots < 0$. Thus, the spectral function ρ is absolutely continuous and strictly increasing on $(0, \infty)$ and has the jump

$$\rho_n = \rho(\lambda_n^+) - \rho(\lambda_n^-)$$

at λ_n .

If the initial condition $u(x, 0) = f(x) \in L_2(0, \infty)$ is given, then the general solution $u^f = u$ of (1.1) can be obtained by the integral transform

$$(3.4) \quad u(x, t) = \int_{-\infty}^{\infty} e^{-\lambda t} \varphi(x, \lambda) F^f(\lambda) d\rho(\lambda),$$

where

$$(3.5) \quad F^f(\lambda) = \int_0^{\infty} f(x) \varphi(x, \lambda) dx.$$

Thus, the observation $u^f(0, t) = u(0, t)$ has the integral representation

$$(3.6) \quad u^f(0, t) = \int_{-\infty}^{\infty} e^{-\lambda t} \varphi(0, \lambda) F^f(\lambda) d\rho(\lambda) = G^f(t) + \sum_{n=1}^{\infty} \rho_n F^f(\lambda_n) e^{-\lambda_n t},$$

where

$$G^f(t) = \int_0^{\infty} e^{-\lambda t} F^f(\lambda) d\rho(\lambda) = \int_0^{\infty} e^{-\lambda t} F^f(\lambda) \rho'(\lambda) d\lambda$$

is the Laplace transform of $F^f(\lambda) \rho'(\lambda)$. The formula for $G^f(t)$ and (3.6) make it clear that $u^f(0, t)$ is an analytic function in the right-half plane $\operatorname{Re} t > 0$.

Now assume $b < \infty$.

Let $0 < \mu_1 < \mu_2 < \dots$ be the complete set of eigenvalues and $\varphi_n(x)$ be the eigenfunction associated with the eigenvalue μ_n for the Sturm-Liouville problem

$$\begin{cases} -\varphi_n''(x) + q(x)\varphi_n(x) = \mu_n \varphi_n(x), & 0 < x < b < \infty, \\ \varphi_n'(0) - h\varphi_n(0) = 0, \\ \varphi_n'(b) + H\varphi_n(b) = 0, \end{cases}$$

normalized by $\varphi_n(0) = 1$. The spectral function $\rho(\lambda)$ in this case is a step function, with the jump $\alpha_n = \frac{1}{\int_0^b \varphi_n^2(x) dx}$ at $\lambda = \mu_n$. Any function $f \in L_2(0, b)$ can

be expanded into the generalized Fourier series

$$f(x) = \sum_{n=1}^{\infty} c_n^f \varphi_n(x),$$

with

$$c_n^f = \frac{(f, \varphi_n)}{(\varphi_n, \varphi_n)} = \frac{\int_0^b f(x) \varphi_n(x) dx}{\int_0^b \varphi_n^2(x) dx}.$$

The solution of (1.1) can be obtained by the series

$$u^f(x, t) = \sum_{n=1}^{\infty} c_n^f e^{-\mu_n t} \varphi_n(x).$$

Thus, the observation $u^f(0, t) = u(0, t)$ has the series representation

$$(3.7) \quad u^f(0, t) = \sum_{n=1}^{\infty} c_n^f e^{-\mu_n t} \varphi_n(0) = \sum_{n=1}^{\infty} c_n^f e^{-\mu_n t},$$

which clearly reveals that $u^f(0, t)$ is an analytic function in the right-half plane $\text{Re } t > 0$.

We now state our main theorem.

Theorem 2. *Assume a priori $q \in L_1(0, b)$. Let the initial temperatures $\{f_j\}_{j \geq 1}$ be a sequence such that $f_j \chi_{[1, \infty)} = 0$, ($j \geq 1$) and $\{f_j \chi_{(0, 1)}\}_{j \geq 1}$ is an orthonormal basis of $L_2(0, 1)$. Then the observations $\{u^{f_j}(0, k)\}_{j \geq 1}$, $k = 1, 2, \dots$, determine q, h, H, b , uniquely.*

Proof. Clearly, $f_j \in L_2(0, \infty)$, ($j \geq 1$). If we choose the initial temperature to be f_j , then

$$F^{f_j}(\lambda) = \int_0^1 f_j(x) \varphi(x, \lambda) dx$$

is an entire function, which is real-valued on the real line.

We shall break the remainder of the proof into 8 steps.

(i) Determining the nature of b , is it finite or infinite

Let $b = \infty$. Fix λ . Observe that there is a j_n such that $F^{f_{j_n}}(\lambda) \neq 0$, for otherwise

$$0 = F^{f_i}(\lambda) = \int_0^1 f_i(x) \varphi(x, \lambda) dx, \quad i = 1, 2, \dots,$$

and from the fact that $\{f_i\}_{i \geq 1}$ is a basis of $L_2(0, 1)$ it would follow that $\varphi(x, \lambda) = 0$ for $x \in (0, 1)$. Furthermore,

$$u^{f_i}(0, t) = G^{f_i}(t) + \sum_{n=1}^{\infty} \rho_n F^{f_i}(\lambda_n) e^{-\lambda_n t}.$$

As $F^{f_i}(\lambda)$ is a nontrivial entire function, its zeros are isolated, and therefore $F^{f_i}(\lambda)$ does not change sign on some interval $(0, a_i)$. Since $\rho'(\lambda) > 0$ on $(0, \infty)$, we have $F^{f_i}(\lambda)\rho'(\lambda) \neq 0$ on $(0, a_i)$. Thus, from the previous section it follows that $G^{f_i}(t)$ as the Laplace transform of $F^{f_i}(\lambda)\rho'(\lambda)$ decays to 0 slower than any exponential function. In other words, $\lim_{t \rightarrow \infty} e^{\epsilon t} |G^{f_i}(t)| = \infty$ for any $\epsilon > 0$. Since $\lim_{t \rightarrow \infty} e^{-\lambda_n t} = \infty$ for all n , it follows that

$$\lim_{k \rightarrow \infty} \frac{\ln |u^{f_i}(0, k)|}{k} \geq 0.$$

If $b < \infty$, then

$$u^{f_i}(0, t) = \sum_{n=1}^{\infty} c_n^{f_i} e^{-\mu_n t},$$

and since $c_n^{f_i} \neq 0$ for at least one n , it follows that

$$\lim_{t \rightarrow \infty} e^{\epsilon t} u^{f_i}(0, t) = 0$$

for any $0 < \epsilon < \mu_1$. Hence

$$\lim_{k \rightarrow \infty} \frac{\ln |u^{f_i}(0, k)|}{k} < 0.$$

Hence we arrive at

$$\begin{aligned} \lim_{k \rightarrow \infty} \frac{\ln |u^{f_1}(0, k)|}{k} < 0 &\Rightarrow b < \infty, \\ \lim_{k \rightarrow \infty} \frac{\ln |u^{f_1}(0, k)|}{k} \geq 0 &\Rightarrow b = \infty. \end{aligned}$$

Thus, from the observations one can determine whether the interval is finite or not.

(ii) Determination of μ_n and $c_n^{f_j}$

Let $b < \infty$, so the spectrum of L is discrete. There exists a j_1 such that $c_1^{f_{j_1}} \neq 0$. Then

$$\begin{aligned} \lim_{k \rightarrow \infty} \frac{u^{f_{j_1}}(0, k+1)}{u^{f_{j_1}}(0, k)} &= \lim_{k \rightarrow \infty} \frac{c_1^{f_{j_1}} e^{-\mu_1} + \sum_{n=l} c_n^{f_{j_1}} e^{-\mu_n} e^{(\mu_1 - \mu_n)k}}{c_1^{f_{j_1}} + \sum_{n=l} c_n^{f_{j_1}} e^{(\mu_1 - \mu_n)k}} \\ &= \frac{c_1^{f_{j_1}} e^{-\mu_1}}{c_1^{f_{j_1}}} = e^{-\mu_1} \end{aligned}$$

so that

$$\mu_1 = - \lim_{k \rightarrow \infty} \ln \left| \frac{u^{f_{j_1}}(0, k+1)}{u^{f_{j_1}}(0, k)} \right|.$$

Now, for any f_j , $c_n^{f_j} \neq 0$ for at least one n . Assume l is the smallest index such that $c_l^{f_j} \neq 0$. Then

$$\begin{aligned} \lim_{k \rightarrow \infty} \frac{u^{f_j}(0, k+1)}{u^{f_j}(0, k)} &= \lim_{k \rightarrow \infty} \frac{c_l^{f_j} e^{-\mu_l} + \sum_{n>l} c_n^{f_j} e^{-\mu_n} e^{(\mu_l - \mu_n)k}}{c_l^{f_j} + \sum_{n>l} c_n^{f_j} e^{(\mu_l - \mu_n)k}} \\ &= \frac{c_l^{f_j} e^{-\mu_l}}{c_l^{f_j}} = e^{-\mu_l}. \end{aligned}$$

Hence

$$- \lim_{k \rightarrow \infty} \ln \left| \frac{u^{f_j}(0, k+1)}{u^{f_j}(0, k)} \right| = \mu_l \geq \mu_1.$$

Consequently, the first eigenvalue can be determined uniquely from the observations by the formula

$$\mu_1 = \inf_{j \geq 1} \left\{ - \lim_{k \rightarrow \infty} \ln \left| \frac{u^{f_j}(0, k+1)}{u^{f_j}(0, k)} \right| \right\}.$$

Once the first eigenvalue μ_1 is determined, $c_1^{f_j}$ can be obtained from the formula

$$c_1^{f_j} = \lim_{k \rightarrow \infty} \left[e^{\mu_1 k} u^{f_j}(0, k) \right], \quad j = 1, 2, \dots$$

Applying the above argument to

$$U_2^{f_j}(t) = u^{f_j}(0, t) - c_1^{f_j} e^{-\mu_1 t} = \sum_{n=2} c_n^{f_j} e^{-\mu_n t} \quad (j = 1, 2, 3, \dots)$$

shows that the second eigenvalue can be determined uniquely by the formula

$$\mu_2 = \inf_{j \geq 1} \left\{ - \lim_{k \rightarrow \infty} \ln \left| \frac{U_2^{f_j}(k+1)}{U_2^{f_j}(k)} \right| \right\},$$

and $c_2^{f_j} = \lim_{k \rightarrow \infty} \left[e^{\mu_2 k} U_2^{f_j}(k) \right]$, $j = 1, 2, 3, \dots$. It is now clear how one can determine recursively $\{\mu_3, c_3^{f_j}\}$, $\{\mu_4, c_4^{f_j}\}$, \dots

(iii) Determination of b, ρ when $b < \infty$

Let $b < \infty$. From the previous step we have found μ_1, μ_2, \dots . The asymptotics formula for μ_n

$$\mu_n = \left(\frac{n\pi}{b} + O(1) \right)^2, \quad n \rightarrow \infty,$$

yields a formula for b

$$b = \lim_{n \rightarrow \infty} \frac{n\pi}{\sqrt{\mu_n}}.$$

Since $\{f_j|_{(0,1)}\}_{j \geq 1}$ is an orthonormal basis of $L_2(0,1)$, we have

$$\varphi_n(x) = \sum_{j=1}^{\infty} (\varphi_n, f_j)_{L_2(0,1)} f_j(x), \quad 0 < x < 1,$$

where

$$(\varphi_n, f_j)_{L_2(0,1)} = \int_0^1 \varphi_n(x) f_j(x) dx = \int_0^b \varphi_n(x) f_j(x) dx = (\varphi_n, f_j) = (\varphi_n, \varphi_n) c_n^{f_j}.$$

Therefore,

$$\frac{\varphi_n(x)}{(\varphi_n, \varphi_n)} = \sum_{j=1}^{\infty} c_n^{f_j} f_j(x), \quad 0 < x < 1.$$

Consequently, the eigenfunctions $\varphi_n(x)$ can be determined on $(0,1)$. The restriction $\varphi_n(0) = 1$ easily yields the jump $\alpha_n = \frac{1}{(\varphi_n, \varphi_n)}$ at $\lambda = \mu_n$. Hence the spectral function ρ is determined.

Once the first eigenfunction is known on $(0,1)$, the heat convective constant h can be easily obtained

$$h = \varphi_1'(0).$$

(iv) Existence of the discrete spectrum for the infinite interval case

Let from Step (i) we have found that $b = \infty$. Since $q \in L_1(0, \infty)$ the spectrum of L consists of the continuous part $[0, \infty)$, and a (possibly empty) discrete part on $(-\infty, 0)$.

We have

$$u^{f_i}(0, t) = G^{f_i}(t) + \sum_{n=1}^{\infty} \rho_n F^{f_i}(\lambda_n) e^{-\lambda_n t},$$

and $\lim_{t \rightarrow \infty} G^{f_i}(t) = 0$. Thus, if the discrete spectrum of L is empty, so that $u^{f_i}(0, t) = G^{f_i}(t)$, then

$$\left\{ \lim_{k \rightarrow \infty} |u^{f_i}(0, k)| \right\}_{i \geq 1} = \{0\}.$$

On the other hand, if the discrete spectrum of L is nonempty, then there is a j_1 such that $F^{f_{j_1}}(\lambda_1) \neq 0$. Since $\lim_{t \rightarrow \infty} e^{-\lambda_1 t} = \infty$, it follows that $\lim_{k \rightarrow \infty} |u^{f_{j_1}}(0, k)| = \infty$. Hence

$$\infty \in \left\{ \lim_{k \rightarrow \infty} |u^{f_i}(0, k)| \right\}_{i \geq 1}.$$

Thus, in case $b = \infty$, one can determine from the observations whether the discrete spectrum of L is empty or not.

(v) Determination of λ_n and $\rho_n F^{f_j}(\lambda_n)$

Let $b = \infty$ and the discrete spectrum of L be nonempty. There exists a j_1 such that $F^{f_{j_1}}(\lambda_1) \neq 0$. Then

$$\begin{aligned} & \lim_{k \rightarrow \infty} \frac{u^{f_{j_1}}(0, k+1)}{u^{f_{j_1}}(0, k)} \\ &= \lim_{k \rightarrow \infty} \frac{G^{f_{j_1}}(k+1)e^{\lambda_1 k} + \rho_1 F^{f_{j_1}}(\lambda_1)e^{-\lambda_1} + \sum_{n=2} \rho_n F^{f_{j_1}}(\lambda_n)e^{-\lambda_n} e^{(\lambda_1 - \lambda_n)k}}{G^{f_{j_1}}(k)e^{\lambda_1 k} + \rho_1 F^{f_{j_1}}(\lambda_1) + \sum_{n=2} \rho_n F^{f_{j_1}}(\lambda_n)e^{(\lambda_1 - \lambda_n)k}} \\ &= \frac{\rho_1 F^{f_{j_1}}(\lambda_1)e^{-\lambda_1}}{\rho_1 F^{f_{j_1}}(\lambda_1)} = e^{-\lambda_1} \end{aligned}$$

so that

$$\lambda_1 = - \lim_{k \rightarrow \infty} \ln \left| \frac{u^{f_{j_1}}(0, k+1)}{u^{f_{j_1}}(0, k)} \right|.$$

Now, for any f_j , it is either $F^{f_j}(\lambda_n) = 0$ for all n , so that

$$u^{f_j}(0, t) = G^{f_j}(t)$$

and

$$\lim_{k \rightarrow \infty} u^{f_j}(0, k) = 0,$$

or $F^{f_j}(\lambda_n) \neq 0$ for at least one n . Assume the latter case and λ_l is the smallest eigenvalue such that $F^{f_j}(\lambda_l) \neq 0$. Then

$$\begin{aligned} & \lim_{k \rightarrow \infty} \frac{u^{f_j}(0, k+1)}{u^{f_j}(0, k)} \\ &= \lim_{k \rightarrow \infty} \frac{G^{f_j}(k+1)e^{\lambda_l k} + \rho_l F^{f_j}(\lambda_l)e^{-\lambda_l} + \sum_{n>l} \rho_n F^{f_j}(\lambda_n)e^{-\lambda_n} e^{(\lambda_l - \lambda_n)k}}{G^{f_j}(k)e^{\lambda_l k} + \rho_l F^{f_j}(\lambda_l) + \sum_{n>l} \rho_n F^{f_j}(\lambda_n)e^{(\lambda_l - \lambda_n)k}} \\ &= \frac{\rho_l F^{f_j}(\lambda_l)e^{-\lambda_l}}{\rho_l F^{f_j}(\lambda_l)} = e^{-\lambda_l}. \end{aligned}$$

Hence

$$- \lim_{k \rightarrow \infty} \ln \left| \frac{u^{f_j}(0, k+1)}{u^{f_j}(0, k)} \right| = \lambda_l \geq \lambda_1.$$

But $F^{f_j}(\lambda_l) \neq 0$ for at least one l if and only if

$$\lim_{k \rightarrow \infty} \left| u^{f_j}(0, k) \right| = \infty.$$

Consequently, the first eigenvalue can be determined uniquely from the observations by the formula

$$\lambda_1 = \inf_{j \geq 1} \left\{ - \lim_{k \rightarrow \infty} \ln \left| \frac{u^{f_j}(0, k+1)}{u^{f_j}(0, k)} \right| : \lim_{k \rightarrow \infty} \left| u^{f_j}(0, k) \right| = \infty \right\}.$$

Once the first eigenvalue λ_1 is determined, $\rho_1 F^{f_j}(\lambda_1)$ can be obtained from the formula

$$\rho_1 F^{f_j}(\lambda_1) = \lim_{k \rightarrow \infty} \left[e^{\lambda_1 k} u^{f_j}(0, k) \right], \quad j = 1, 2, \dots$$

Applying the above argument to

$$U_2^{f_j}(t) = u^{f_j}(0, t) - \rho_1 F^{f_j}(\lambda_1) e^{-\lambda_1 t} = G^{f_j}(t) + \sum_{n=2}^{\infty} \rho_n F^{f_j}(\lambda_n) e^{-\lambda_n t}, \quad (j = 1, 2, 3, \dots)$$

shows that if

$$\lim_{k \rightarrow \infty} U_2^{f_j}(k) = 0,$$

for any j , then there is no other eigenvalue of L , and the discrete spectrum of L consists of only one eigenvalue λ_1 . Otherwise, a second eigenvalue exists, and can be determined uniquely by the formula

$$\lambda_2 = \inf_{j \geq 1} \left\{ - \lim_{k \rightarrow \infty} \ln \left| \frac{U_2^{f_j}(k+1)}{U_2^{f_j}(k)} \right| : \lim_{k \rightarrow \infty} |U_2^{f_j}(k)| = \infty \right\},$$

and $\rho_2 F^{f_j}(\lambda_2) = \lim_{k \rightarrow \infty} [e^{\lambda_2 k} U_2^{f_j}(k)]$, $j = 1, 2, 3, \dots$. It is now clear how one can determine recursively pairs $\{\lambda_3, \rho_3 F^{f_j}(\lambda_3)\}, \{\lambda_4, \rho_4 F^{f_j}(\lambda_4)\}, \dots$, if they exist. This process yields $\sum_{n=1}^{\infty} \rho_n F^{f_j}(\lambda_n) e^{-\lambda_n t}$, and consequently, one would determine

$$G^{f_j}(k) = \int_0^{\infty} e^{-\lambda k} F^{f_j}(\lambda) \rho'(\lambda) d\lambda = u^{f_j}(0, k) - \sum_{n=1}^{\infty} \rho_n F^{f_j}(\lambda_n) e^{-\lambda_n k}.$$

(vi) Determination of $F^{f_j}(\lambda) \rho'(\lambda)$ for $\lambda > 0$

Let $b = \infty$. Since $q \in L_1(0, \infty)$, the solution $\varphi(x, \lambda)$ satisfies $|\varphi(x, \lambda^2)| \leq C e^{x|\operatorname{Im} \lambda|}$ for some independent constant. This shows that $\varphi(x, \lambda)$ is bounded by C for $\lambda > 0$, and consequently, $|F^{f_j}(\lambda)| \leq C \|f_j\|_2$ for $\lambda > 0$. Since $\rho'(\lambda) \sim \frac{1}{\pi \sqrt{\lambda}}$ as $\lambda \rightarrow \infty$, it follows that $F^{f_j}(\lambda) \rho'(\lambda) \in L_{\infty}(0, \infty)$.

As $F^{f_j}(\lambda) \rho'(\lambda)$ ($\lambda > 0$) is the inverse Laplace transform of $G^{f_j}(t) = u^{f_j}(0, t) - \sum_{n=1}^{\infty} \rho_n F^{f_j}(\lambda_n) e^{-\lambda_n t}$ that is known at $t = 1, 2, 3, \dots$, the inversion formula for the Laplace transform (2.4) will then recover

$$F^{f_j}(\lambda) \rho'(\lambda) = \lim_{n \rightarrow \infty} n \sum_{k=1}^{\infty} \frac{(-1)^{k-1}}{(k-1)!} e^{nkt} \left[u^{f_j}(0, nk) - \sum_{n=1}^{\infty} \rho_n F^{f_j}(\lambda_n) e^{-\lambda_n nk} \right], \lambda > 0.$$

Thus, $F^{f_j}(\lambda) \rho'(\lambda)$ for $\lambda > 0$ is obtained uniquely from the observations $u^{f_j}(0, k)$, $k = 1, 2, 3, \dots$

(vii) Determination of $\rho(\lambda)$

The relation

$$\int_0^1 f_j(x) \varphi(x, \lambda) dx = F^{f_j}(\lambda)$$

shows that for each $\lambda > 0$, the constants $F^{f_j}(\lambda)$, ($j \geq 1$), are the Fourier coefficients in the expansion of $\varphi(x, \lambda)$ into its generalized Fourier series relative to the basis $\{f_j\}_{j \geq 1}$ on $(0, 1)$, i.e.

$$\varphi(x, \lambda) = \sum_{j=1}^{\infty} (\varphi, f_j)_{L_2(0,1)} f_j(x) = \sum_{j=1}^{\infty} f_j(x) \int_0^1 f_j(x) \varphi(x, \lambda) dx = \sum_{j=1}^{\infty} F^{f_j}(\lambda) f_j(x).$$

Hence

$$\varphi(x, \lambda) \rho'(\lambda) = \sum_{j=1}^{\infty} F^{f_j}(\lambda) \rho'(\lambda) f_j(x), \quad 0 < x < 1, \quad \lambda > 0.$$

Consequently, once $F^{f_j}(\lambda) \rho'(\lambda)$ has been determined for all $\lambda > 0$ and for any j , we can recover $\varphi(x, \lambda) \rho'(\lambda)$ on $(0, 1)$, and because $\varphi(0, \lambda) = 1$ one can determine $\rho'(\lambda)$. Of course, this along with the determination of λ_n, ρ_n , in Step (iii) completely determines $\rho(\lambda) = H(\lambda) \int_0^\lambda \rho'(t) dt + \sum_{n=1}^{\infty} \rho_n H(\lambda - \lambda_n)$ on the whole real line, where $H(t)$ is the Heaviside step function.

(viii) Determination of q and h, H

Now that $\rho(\lambda)$ has been determined (in Step (v) for $b < \infty$, and in Step (vii) for $b = \infty$), we can apply the Gelfand-Levitan inverse spectral theory [9] to recover q and h, H . To this end, we define

$$(3.8) \quad T(x) = \int_{-\infty}^{\infty} \cos(x\sqrt{\lambda}) d\left(\rho(\lambda) - \frac{2}{\pi} \sqrt{\lambda_+}\right),$$

where $\lambda_+ = \max(\lambda, 0)$, and

$$L(x, y) = \frac{1}{2}T(x + y) + \frac{1}{2}T(x - y),$$

and solve the Fredholm integral equation

$$L(x, y) + K(x, y) + \int_0^x K(x, s)L(s, y) ds = 0, \quad 0 \leq y \leq x,$$

to find $K(x, y)$, which is also differentiable. The heat source proportionality coefficient q is then given by $q(x) = 2 \frac{d}{dx} K(x, x)$. The boundary constant h follows from $h = K(0, 0)$. For $b < \infty$, solving the initial value problem

$$\begin{aligned} \varphi_1''(x) - q(x)\varphi_1(x) &= \mu_1 \varphi_1(x), \\ \varphi_1(0) &= 1, \quad \varphi_1'(0) = h, \end{aligned}$$

will yield

$$H = -\frac{\varphi_1'(b)}{\varphi_1(b)}.$$

This completes the proof of the theorem. □

Remark 1. The observations $\{u^{f_j}(0, t)\}_{j \geq 1}$, $t \in (0, T)$, determine q, h, H, b , uniquely.

In fact, $u^{f_j}(0, t)$ is an analytic function in $\operatorname{Re} t > 0$, therefore, from $u^{f_j}(0, t)$ on $(0, T)$ by analytic continuation one can determine $u^{f_j}(0, t)$ for any $t > 0$, and Theorem 2 can be applied.

4. ALGORITHM

Let $\{f_j\}_{j \geq 1}$ be an orthonormal basis of $L_2(0, 1)$ and $\{u^{f_j}(0, n)\}_{j \geq 1}$, $n = 1, 2, \dots$, be the observations.

(1) If

$$\lim_{k \rightarrow \infty} \frac{\ln |u^{f_1}(0, k)|}{k} < 0,$$

then $b < \infty$. Go to Step 2

Otherwise, $b = \infty$. Go to Step 4.

(2) The first eigenvalue can be determined by the formula

$$\mu_1 = \inf_{j \geq 1} \left\{ - \lim_{k \rightarrow \infty} \ln \left| \frac{u^{f_j}(0, k+1)}{u^{f_j}(0, k)} \right| \right\}.$$

And $c_1^{f_j}$ can be obtained from the formula

$$c_1^{f_j} = \lim_{k \rightarrow \infty} \left[e^{\mu_1 k} u^{f_j}(0, k) \right], \quad j = 1, 2, \dots.$$

Let

$$U_2^{f_j}(t) = u^{f_j}(0, t) - c_1^{f_j} e^{-\mu_1 t} \quad (j = 1, 2, 3, \dots),$$

then the second eigenvalue can be determined by the formula

$$\mu_2 = \inf_{j \geq 1} \left\{ - \lim_{k \rightarrow \infty} \ln \left| \frac{U_2^{f_j}(k+1)}{U_2^{f_j}(k)} \right| \right\},$$

and $c_2^{f_j} = \lim_{k \rightarrow \infty} \left[e^{\mu_2 k} U_2^{f_j}(k) \right]$, $j = 1, 2, 3, \dots$. Determine recursively $\{\mu_3, c_3^{f_j}\}$, $\{\mu_4, c_4^{f_j}\}, \dots$ and go to Step 3 below.

(3) The length b

$$b = \lim_{n \rightarrow \infty} \frac{n\pi}{\sqrt{\mu_n}}.$$

The jump α_n

$$\alpha_n = \lim_{x \rightarrow 0^+} \sum_{j=1}^{\infty} c_n^{f_j} f_j(x), \quad 0 < x < 1.$$

The spectral function

$$\rho(\lambda) = \sum_{n=1}^{\infty} \alpha_n H(\lambda - \mu_n).$$

Go to Step 8.

(4) If

$$\left\{ \lim_{k \rightarrow \infty} \left| u^{f_j}(0, k) \right| \right\}_{j \geq 1} = \{0\},$$

then the discrete part of the spectrum of L is empty. Define $G^{f_j}(k) = u^{f_j}(0, k)$ and go to Step 6.

Otherwise, the discrete part of the spectrum of L is nonempty. Go to Step 5 below.

(5) The first eigenvalue can be determined by the formula

$$\lambda_1 = \inf_{j \geq 1} \left\{ - \lim_{k \rightarrow \infty} \ln \left| \frac{u^{f_j}(0, k+1)}{u^{f_j}(0, k)} \right| : \lim_{k \rightarrow \infty} \left| u^{f_j}(0, k) \right| \neq 0 \right\},$$

and $\rho_1 F^{f_j}(\lambda_1)$ can be obtained from the formula

$$\rho_1 F^{f_j}(\lambda_1) = \lim_{k \rightarrow \infty} \left[e^{\lambda_1 k} u^{f_j}(0, k) \right], \quad j = 1, 2, \dots$$

Let

$$U_2^{f_j}(t) = u^{f_j}(0, t) - \rho_1 F^{f_j}(\lambda_1) e^{-\lambda_1 t} \quad (j = 1, 2, 3, \dots).$$

If

$$\left\{ \lim_{k \rightarrow \infty} U_2^{f_j}(k) \right\}_{j \geq 1} = \{0\},$$

then there is no other eigenvalue of L , and the discrete spectrum of L consists of only one eigenvalue λ_1 . Otherwise, the second eigenvalue exists, and can be determined by the formula

$$\lambda_2 = \inf_{j \geq 1} \left\{ - \lim_{k \rightarrow \infty} \ln \left| \frac{U_2^{f_j}(k+1)}{U_2^{f_j}(k)} \right| : \lim_{k \rightarrow \infty} \left| U_2^{f_j}(k) \right| \neq 0 \right\},$$

and $\rho_2 F^{f_j}(\lambda_2) = \lim_{k \rightarrow \infty} \left[e^{\lambda_2 k} U_2^{f_j}(k) \right]$, $j = 1, 2, 3, \dots$. Recursively, one can determine the pairs $\{\lambda_3, \rho_3 F^{f_j}(\lambda_3)\}, \{\lambda_4, \rho_4 F^{f_j}(\lambda_4)\}, \dots$, if they exist. Define

$$G^{f_j}(k) = u^{f_j}(0, k) - \sum_{n=1} \rho_n F^{f_j}(\lambda_n) e^{-\lambda_n k}$$

and go to Step 6 below.

(6)

$$F^{f_j}(\lambda) \rho'(\lambda) = \lim_{n \rightarrow \infty} n \sum_{k=1}^{\infty} \frac{(-1)^{k-1}}{(k-1)!} e^{nkt} G^{f_j}(nk), \quad \lambda > 0, \quad j = 1, 2, \dots$$

Go to Step 7 below.

(7)

$$\rho'(\lambda) = \lim_{x \rightarrow 0^+} \sum_{j=1}^{\infty} F^{f_j}(\lambda) \rho'(\lambda) f_j(x), \quad \lambda > 0.$$

$$\rho(\lambda) = H(\lambda) \int_0^\lambda \rho'(t) dt + \sum_{n=1} \rho_n H(\lambda - \lambda_n), \quad -\infty < \lambda < \infty.$$

Go to Step 8 below.

(8) Define

$$T(x) = \int_{-\infty}^{\infty} \cos(x\sqrt{\lambda}) d\left(\rho(\lambda) - \frac{2}{\pi} \sqrt{\lambda_+}\right),$$

and

$$L(x, y) = \frac{1}{2}T(x+y) + \frac{1}{2}T(x-y).$$

Solve the Fredholm integral equation

$$L(x, y) + K(x, y) + \int_0^x K(x, s)L(s, y) ds = 0, \quad 0 \leq y \leq x,$$

to find $K(x, y)$.

$$q(x) = 2 \frac{d}{dx} K(x, x), \quad h = K(0, 0).$$

For $b < \infty$ solving the initial value problem

$$\varphi_1''(x) - q(x)\varphi_1(x) = \mu_1\varphi_1(x),$$

$$\varphi_1(0) = 1, \quad \varphi_1'(0) = h,$$

to find

$$H = -\frac{\varphi_1'(b)}{\varphi_1(b)}.$$

5. DETERMINATION OF THE LENGTH b BY ONE MEASUREMENT

Suppose that we are interested only in the question of whether the half-buried rod is finite or infinite, and if it is finite, then what is the length of the rod? Then, we need only one measurement $\{u^{f_1}(0, k)\}_{k>0}$ for a suitable initial temperature f_1 . In fact, from (i) Section 3, we have that

$$\lim_{k \rightarrow \infty} \frac{\ln |u^{f_1}(0, k)|}{k} < 0 \quad \Rightarrow \quad b < \infty,$$

$$\lim_{k \rightarrow \infty} \frac{\ln |u^{f_1}(0, k)|}{k} \geq 0 \quad \Rightarrow \quad b = \infty.$$

In [4, 6], it was shown that for a finite rod, with the initial temperature $f_1(x) = x^\alpha$, $-\frac{1}{2} < \alpha < 0$, the Fourier coefficients $c_n^{f_1} \neq 0$ for all n large enough. Then, by (ii) Section 3, one can find the eigenvalues μ_n for those $c_n^{f_1}$. Number the eigenvalues in an increasing order as ν_1, ν_2, \dots . Since only a finite number of

eigenvalues were missing, $\nu_n = \mu_{n-K}$ for large n and fixed K (K is actually the number of missing eigenvalues). The length b can then be found by the formula

$$b = \lim_{n \rightarrow \infty} \frac{(n+K)\pi}{\mu_{n+K}} = \lim_{n \rightarrow \infty} \frac{n\pi}{\nu_n}.$$

REFERENCES

- [1] S. A. Avdonin, M. I. Belishev and Yu. Rozhkov, The BC-method in the inverse problem for the heat equation, *J. Inv. Ill-Posed Probl.* **5** (1997), 309–322.
- [2] S. A. Avdonin, S. Lenhart and V. Protopopescu, Determining the potential in the Schrödinger equation from the Dirichlet to Neumann map by the boundary control method, Inverse problems: modeling and simulation, *J. Inv. Ill-Posed Probl.* **13** (2005), 317–330.
- [3] M. I. Belishev, Canonical model of a dynamical system with boundary control in inverse problem for the heat equation (in Russian), *Algebra i Analiz* **7** (1995), 3–32; translation in *St. Petersburg Math. J.* **7** (1996), 869–890.
- [4] A. Boumenir and V. K. Tuan, An inverse problem for the heat equation, *Proc. Amer. Math. Soc.* **138** (2) (2010), 3911–3921.
- [5] A. Boumenir and V. K. Tuan, Inverse problems for multidimensional heat equations by measurements at a single point on the boundary, *Numer. Funct. Anal. Optimiz.* **30** (11–12) (2010), 1215–1230.
- [6] A. Boumenir and V. K. Tuan, Recovery of a heat equation by four measurements at one end, *Numer. Funct. Anal. Optimiz.* **31** (2) (2010), 155–163.
- [7] V. Isakov, On uniqueness in inverse problems for semilinear parabolic equations, *Arch. Rational Mech. Anal.* **124** (1) (1993), 1–12.
- [8] V. Isakov, *Inverse Problems for Partial Differential Equations*, 2nd ed. Applied Mathematical Sciences 127, Springer, New York, 2006.
- [9] B. M. Levitan, *Inverse Sturm-Liouville Problems*, VNU Science Press, Utrecht, 1987.
- [10] B. D. Lowe and W. Rundell, The determination of a coefficient in a parabolic equation from input sources, *IMA J. Appl. Math.* **52** (1) (1994), 31–50.
- [11] E. L. Post, Generalized differentiation, *Trans. Amer. Math. Soc.* **32** (1930), 723–781.
- [12] E. C. Titchmarsh, *Eigenfunction Expansions Associated with Second-Order Differential Equations. Part 1*. Clarendon Press, Oxford, 1962.
- [13] V. K. Tuan and D. T. Duc, A new real inversion formula for the Laplace transform and its convergence rate, *Fract. Calc. Appl. Anal.* **5** (4) (2002), 387–394.
- [14] V. K. Tuan and D. T. Duc, Convergence rate of Post-Widder approximate inversion of the Laplace transform, *Vietnam J. Math.* **28** (1) (2000), 93–96.
- [15] D. V. Widder, The inversion of the Laplace integral and the related moment problem, *Trans. Amer. Math. Soc.* **36** (1934), 107–200.
- [16] D. V. Widder, *The Laplace Transform*, Princeton University Press, Princeton, 1972.

DEPARTMENT OF MATHEMATICS
UNIVERSITY OF WEST GEORGIA, GA 30118, USA
E-mail address: vu@westga.edu

DEPARTMENT OF MATHEMATICS
KUWAIT UNIVERSITY, KUWAIT
E-mail address: musallam@sci.kuniv.edu.kw